=REIAF BB A

ZRBTER L f(X)= X +ax +bx+c L8RS u] DA E o(X)=X +DX ° & 24 -

B g(X)=X +DX £8HBSEAS AT E f(X)= X +ax +bx+c

1. X +ax+bx+c Bt=7%

a? a
(x+—) =x*+ax’ + —X+—
3 27
X +ax? +bx+c=
2 3
e E VY VO
3 27

2 3 3

s a, a° a
= S-S e e D) - D
—u+—)+m——au+§w«a39 51)

2. ﬁmﬁmmcu—%%é%%mmﬁﬁ%ﬁ

/%\ f(X): x3+aX2+bx+c ’ [Jf (_i) — Zi_%_l_ c

' 2 o a a’
f (X)=3x"+2ax+Db,R|f (—g)zb_?

£'(x) = 6x+ 24, mf"(—%) -0

£'(x) = 6, A1 (—2) = 6
3
E%x%w@ﬁ%@b%%%%%%%ﬁﬁ%ﬁ@?

F-3) F-2) (—g)
00 D S e ) B e ) )=

= (x+—) + (b— —)(x +—) + (c—ﬂ Zi)



e AT+ I )=+ (b—%>x R -
(1)izn%—%>o : amz%&—%%&% .

(Z)ﬁn%—% 0 am&%@%z—w% .

ab 2a’° . @b 2% )
(S)ﬁﬂ%c—?+7>0 AlliE)_EPF2 (c ?+§)$ﬁ15

ab 2a’ . @b 2a° .. )
(4)ﬁﬂ%c—?+7<0 Aiffa] 3% | ¢ ?+§|Eiﬁ15

SRS ST T R B B B (x+ %)3 +(b- %)(X ¥ %) + (c—%%) KLY

B X +ax +bx+c FYETE -

HeuA .
él:l o -

=R BIER . {()=x +ax’+bx+c » Hf (o) =0 - FPEATE LR

9(x) =X +F (o) x WICHIKIEDE, » (56 o BAE » [ EPR () EfE >
BT LS FGORT BB -

I -

SR f()=X +X +x-1 3

f(x)=3x*+2x+1 > f(X)=6x+2 °

é\f"(x):6x+220 ) %H: X:—% ’ E\U 3 2 e : 7 2 3 ¥ 5

flry=z*a+p=1

1 34 L1 2
f9=—> Bf9-3

RIEE PR =R

g0 =x° +f'(—%)x = X3+§X D _%E’ém%aﬂﬁﬁ$%%zﬁ

Brf) 5 RS- B REI PP -2 BAR) o TSR

fORYEFE -



R
=REIAAN BB H PR ggb 1 (R LA (FaER)

http://www.mathland.idv.tw/ggb/ggbhtml5/cubic_polynomial_translation.htm

FEE(E®)2019

E & TAEY; http://www.mathland.idv.tw


http://www.mathland.idv.tw/ggb/ggbhtml5/cubic_polynomial_translation.htm

